
Known Limits

lim
t→a

c = c. lim
t→∞

c = c.

lim
t→a

t = a. lim
t→∞

t = ∞.

lim
t→−∞

t = −∞.

lim
t→0−

1
t

= −∞. lim
t→∞

1
t

= 0.

lim
t→0+

1
t

= ∞. lim
t→−∞

1
t

= 0.

lim
t→a

sin t = sin a. lim
t→∞

sin t does not exist.

lim
t→a

cos t = cos a. lim
t→∞

cos t does not exist.

lim
t→a

ln t = ln a. lim
t→∞

ln t = ∞.

lim
t→0+

ln t = −∞.

lim
t→a

et = ea. lim
t→∞

et = ∞.

lim
t→−∞

et = 0.

lim
x→0

sinx

x
= 1. lim

x→0

1− cos x

x
= 0.

Limit Properties

lim
t→a

[f(x) + g(x)] =
[
lim
t→a

f(x)
]

+
[
lim
t→a

g(x)
]
.

lim
t→a

[f(x)− g(x)] =
[
lim
t→a

f(x)
]
−

[
lim
t→a

g(x)
]
.

lim
t→a

[f(x)g(x)] =
[
lim
t→a

f(x)
]
·
[
lim
t→a

g(x)
]
.

lim
t→a

f(x)
g(x)

=
limt→a f(x)
limt→a g(x)

, if lim
t→a

g(x) 6= 0.

lim
t→a

f( g(x) ) = f
(

lim
t→a

g(x)
)

, if f(x) is continuous.


